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GEOGRAPHY
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Full Marks : 40 Time : 2 Hours
The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their
own words as far as practicable.

1.  Answer any ten questions: 1x10=10

-] wifs 2rsa et mis ¢

a)  What gave the concept of Veblen goods?
(O T el (& eaiece 2

b)  Which type of economic activity is related with
'‘Blue coller labor'?
'Blue coller labor' (e == i<l fos SRR
A TG ?

c) Whatis GATT?
GATT 2

d)  Which country started GST first?
I o GST &S & F(AMLe 2

[Turn Over]

g)

h)

i)

k)

D)
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What is Anadromous fish?

SICYSI g 62

What is EEZ?

EEZ Seie & (@i

What is SEZ?

SEZ &2

What is Black Economy?

Black Economy J#(® & (IRl 2

Who are the founder member countries of
OPEC?

OPEC &9 25 v (v i<l 2

Which city is known as the 'Manchester of
India'?

CRICed (I *27 'Manchester of India' <t
Ao ?

What is 'mulch'?

e 62

Write the two names non-metallic resources.
uib S feer SToie IS (@12 |

Define accessibility.

Sairel Al SiEiREED ske ae |

Define Isotim.

SRENDN @7 kel wie |

What is meant by Sagarmala Project?
Sagarmala Project &2
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2. Answer any five questions: 2x5=10

-] A @ess Ted s ¢

a)  What is sustainable forest management?
Sustainable forest management IS & (A 2

b)  What is critical isodapen?
[ERERIGACIEIEI (G OISR

c¢)  What is organic farming?
ted IR eTce 6 @i

d) Mention the major fishing grounds of the
world.
AT TSR (Fwafers I Trard I |

e)  Whatare problems of Blue Revolution in India?
©Ieed el e el & e

f)  What do you mean by manufacturing regions?
Manufacturing regions IS & (IRl 2

g)  What is the 'golden quadrilateral'?
IR bgge e

h)  Mention the salient features of SEZ.
SEZ-47 Trard@iol Azl (el |

3.  Answer any two questions: 5%x2=10

@-(FIC 76 &F Ted wie ¢

a)
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Distinguish between Intensive subsistence
farming and Commercial farming.

Q9 Gifkerrefefes s gz afafers
FRFICE T drev W I |
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b)

4.  Answer any one question:

"World minerals are limited in reserves" —
justify the statement.

“sffe3ice e TR SleR e’ 93 TEE@H
TSl @l el |

Tea Industry in North-east India faced various
problems — Describe in brief.

Ceg-9l< wisiced bl s Aphiefe Jeweel o]
IS |

10x1=10

@@ @FH 4 Tad 7S ¢

a)

b)
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State Von Thunen's Agricultural model. Discuss
the relevance of this theory in modern time.

Von Thunen's @3 3R S@ZH MEF® web @12 |
O A G OGSl S FA |
Explain with example the role of transport in
industries and industrialization in India.

fas @ TR SifteE elRces e Snizaer
I AT

"The Cotton textile industry in India is highly

decentralized". Analyse the factors.

“elred I [ e [Rereir [Rsdes” —
Fraeefer f[oe i
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